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Semester B.cA.Oegree (_CBS'S - Sup.rmp.)
ExaminAion llov"ehlSer 2020

(201a-'1s Adni;s.)
Core Course

3B06BCA : COMPUTEB ORGANISATTON

SECTION A

Answer all questions Hatf mark each l

I a) A conlrol unit whose binary conrro varabtes are stored tn memory ts

b)

c)

d)

e) iechniqLre is used to reducethe numberolbiis iniheaddrcssino

A r.emory unlt accessed by

The reglsler thal keeps track

r)

q) ol address oithe instiuction lo be execur',ad

h) The nanqlpr ofr'ornatio- "or d 'reTory woro to oulsrde e-vironn an. rs

Give an example Ior macrooperation.

The outpul oteach qeneralregisler is connected 10

Who intrcduced preiix nolation ?

SECTION _ B

Answerany 7 queslions.2 ma*s each :

2- Add +18 wilh 7 using 2's cornptemenl method.

3. What are the diilerenl parts or a ttoaling point nurnber ?

4. What is a conrrcliunction ? c ve exampie.
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5. DisiingLrish belween direct and indlrecl address ng modes

6. Whal is lhe principle ot microprcgramm ng ?

7 H.w does a CFT rnonitorwork ?

8. Whai is localily ol relerefce ?

9. Whar is clsc ?

10. Wite any tour regisler reierence nstructions.

11 Exolain base reqlster address ng mode lTx2=14)

SECTLON C

Answerany4 questions.3 marks each l

i 2 Whal are the diilerent tvpes oi compuiers ?

13. Draw lhe diagram and explaln procedure lo co.strucl a bus sysrem wth

three-sraie buller

14 what are the dillerenl lypes oi comrnands that ar lnlerface may receive ?

15 Dislinguish between regisler slack a.d rnemory slack using stack operalons'

16 Describe the i!nction oi priortV e.coder Draw lhe dlagram.

17. Exoain address sequencng. (ax3=12)

sEcl oN-D

Answer any 2 questions. 5 ma*s each l

18. Explain conlrci funciions and microoperalons 
'eeded 

tor ihe execution oi

memory-ref erence inslructions

19. Describe diiiereni modes ol dala l.ansfer lo and lrom perlpherals Draw

necessary diagrarns

20. Wrile a delailed nole on lnslruclion cvcle descr bing var ous sieps invo ved ln it

21. Comparelhe clraraclerislcs ol CISC and RISC (2x5=10)


